TsaSsunauilosnnsdum Ussfiunaunsgiumsiseud/fiavin (szudnemaitew)
mMAseuil 1 Insfinen 2557 e g g ;('_f‘; s
- o o~ e |2 z|z =
v MseenlUUILYeYa I 433241 HEEEE <
Y v o X [l ol I I I G € &
AFHEDU : WIBHTIAU LNBNIU SISISIDS z S S S
=[2|S[2]2S] 2 S I B -
Clol|lo|la|z]|= G G > @D
gle |G |6 |6 % S| 2 &3 < =) »n< e
4 oooa Yoo s ad 8.H.N.“.“.“e§§ = a 2 = I
TTOUNLYUTULTINANYITUN 6/8 2555 (E(2|2lc| 2 | S| S| 2 |¢<
e A 2lzlzlzlz|slele| 22|28 |=2
FIUUNLTIUINUUA 30 AU gl=l1===1=]g| 2| =2 » » 2 | &
15 — N [Sal < L ad ad & & & 'ad L\
1ud | ludsednd ¥o- ana w1{10[10(10/10| 10|50/ 10| 60 | 20 [ 20 | 100 |in3A
1 21288  [wwansy audFm 10]10 7127 4| 31 [ 12| 7 | 50| 1
2 21365 |wwngAned VLN 10{10]10 7137 6| 43| 14| 2 | 59 [1.5
3 21390  |uedusy duun 5110 7122| 2| 24 0 1 25 | 0
4 21481 |ueugwa g 5 5 5 8 2 (150
5 21535 |uedvdia Junmu g |10f{10f{10[ 7 fa5| 7] 52 | 8 0] 7|3
6 21558 [wwansws auysaldu 10{10] 10 300636 |12 2|51
7 21563 UNUTUNT ﬂi:lmjﬁqmmﬁﬂ 11|10|10{ 10| 7 |a8] 8 | 56 7 5 68 | 2.5
8 21564 |[welypethud  iiysesm 10 10 2| 12| 3 1 |16]o0
9 21573 [weanagil AEITIU 5{10] 5 20| 2] 22| 8 1 31|10
10 21581  |wweusASd  WudUsshvg 10{10[ 10 7137 6| 43| 12| 5 [ 60| 2
11| 21583 |wwdugs 135 10| 10[10 (6|36 | 14| 1|5 ]1
12 21606 |ueaming duluuden 11{10]10 31 6 | 37 0 2 3910
13 23020 UNYTUNEH Ej%ﬁﬁ 10]10(10]) 10| 7 |147| 8 55 18 7 80 q
14 23022 |wwsugdnd  adeuded 5 slol 5| 9| 5 |1w9]o0
15 23023 |uneSsTml AN 10[ 10 7127] 4| 31 8 7 |4 | O
16 23024 [weunind GRRNG) 10{10]10 71371 6 a3 | 10| 2 | 55 1.5
17 23025  |wigwna i 410 14| 2| 16 3 1910
18 25026 |wwmaAtivias dundsns 1|6 7l +]| 8 8
19 23030 |weAsNdl ENERN 10| 5 [10] 9 34 6 | 40 | 11 a4 55 | 1.5
20 21604 |waafaye avz\de 10| 5|5 20( 2| 22 6 [ 2810
21 21410  |uAgn1IIIR Resayns 61995 29| 4| 33 5 38 | 0
22 21587 [uanaivm, aysudua glol1o[5|7|39] 5] aa | 3 4 | 511
23 21588  |u.a.dunsidn Junsuia 6 7113 1] 14| 2 1 1710
24 21649 U500 NEEINT 410 14 2 | 16 1 17 | 0
25 22459 |ualvfudl duny 10{10]10 71371 6| 43 | 6 1|50 |1
26 23033 |uasusnud 15ead 61310 26| 1| 271 | 2 1 3]0
27 23034 |u.a.ivsuu wteuiiasey 6110 16| 2| 18 2 20| 0
e
AMNEIRINIM
0 RN EIE
E IE IE s IS 1=
Fail =l2(2(2]|2]e
e | & « | @ « | &
BUTD e GHAGRD]
(wegFianl ey
Asideu : Ag3TmY e U%UUgaﬁa;daLia 25/9/2014 / 16:33



